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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PR Seq

(@) What is the relation among mean,
median and mode?

TS, YN S 8T =o€ ¥ 2

(b) Write True or False :
31 & gy forar :

Mean and ~ variance of Poisson
distribution are equal.

RN IBTR I AF 27T ST 2 |
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(c) Show that P(A)=1-P(A).

_ () What is zero correlation?
(§s @ P(A)=1-P(A).

0 TR %2

(d) Write True or False : () Mention any one merit of simple random

51 1 Ry o - ' sampling.

If A and B are two independent events, AT FfoeE afenda R e <o ’1%‘“ Ty
then P(AUB)=P(A)xP(B). 0

M A WF B Fox WAl W, CERE

P(AU B) = P(A)x P(B). k 2. Answer the following questions : 2x5=10

ol AIART ey fuar
(e) Define random sampling. '

Iy aforfa ke faan |

(a) Define positive and negative correlation.
i CTTRE S Reaaree Sreraem e fia |

0 g:ﬁbtl?go:ean and variance of binomial (b) Distinguish between arithmetic mean

and harmonic mean.

fRem 3% o1 SIF 29PT fo M 1% Wi WG T Tere A1FT 2

I

() What is scatter diagram? (c) Distinguish between linear and

29 g R 2 non-linear correlation.

| | RT IF IT-TRTEE TR N R

A (h) Mention any one property of Poisson KL .
distribution. (d) State the addition theorem of probability.
oo I% R Il @B 4 By 74 | - TOIROR e ogeh SEY M|
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(4) (S)

(e) If A and B are two events and suppose (c) Define the following :
P(A)=0-4, P(B)=P and P(AUB)=0-7, ]
find the value of P if A and B are =TS fHICaTs e fi -
independent. () Mutually exclusive events
P(A)=0-4, P(B)=P 9¥ P(AUB)=0-7.
I A 9F B ToF7 W01 T, (5@ P VI AR (@) Equally likely event
91 | FPFSIAT SO

(d) If A and B are two independent events,

‘3. Answer any four of the following questions : ' prove that A and B are also independent

5x4=20 events.
T 2SR I viiRbR e W A F B FOF B T, o499 I T A WF
| B 571 {B1S ¥og |
(a) Write three merits and two demerits of
Karl Pearson’s correlation coefficient. (e) Explain Poisson distribution with its
IR PERTe TR NI R @ R probability mass function.
R = o1 SRR Fr oA IS W SeIReN O] Fo (p.m.f.)A
CTCS I #17
(b) Distinguish between the following : . ‘ T »
oo fRaPTRe o o : () A card is drawn from a pack of well
. .. shuffled pack of cards. What is the
() Parameter and statistic probability that it is either a queen or a
A SIF AfSefe . spade?
. 9B1 OI5Y CIBI °[1 I G OpATS B =W
i) Population and samplin ’
() Pop ping SR B AN iR I @R SR
7B o effSwf | R 2
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(6)

4. Answer any four of the following questions :

10x4=40

wm{aﬁmsﬁ%ﬁ%‘@ﬁm:

(@)

(b)

©

(i) What is stratified random sampling?
e RS aAfess 2

(i) Discuss the merits and demerits of
stratified random sampling.

Tpo e dfesTy JRY w1 SERY

AT 41 |

Explain the main propertles of binomial
distribution.

fRom 3% Y CIFBPRR IR 34

Explain the main steps of sample survey.

- A PR 2 AR R

(d

(e

A25/27

State and prove the multiplicative

theorem of probability.
TIOR3 T TS I AT IR |

Distinguish between sampling and
non-sampling error. Sample survey is
more advantageous than the complete
enumerator. Explain.

( Continued )

3+7=10

2+8=10

(9)

(7))

afevrm & uF waferm @fe TR cndw
frrr afee! Sqpw s ety wRe
SRYEE | I F |

Show that in Poisson distribution mean
is equal to variance.

2919 I @ *RID IBT© T SF 259 A F |

A bag contains 3 red, 6 white and 7 blue
balls. 3 balls are drawn at random. Find
the probability of the following :

&bl 1S 3B Je1, 651 I WF 75 [eow @
SR | ©IT 3B 39 BRI 2 | wore TRARIBR

(h)

A25/27

() All are white balls
WHRTILH! 390 @R SR
(i)} All are of same colour

ORI 9T 67 @IN TR

What is meant by correlation? Write the
properties of Karl Pearson’s correlation
coefficient. Calculate Pearson’s
correlation coefficient of marks obtained
by five students in Economics and
Statistics as given below :

R R a2 e Piosw s e
wFH Frn ofven wER wAR e

( Turn Over )

2+3+5=10



(8)
AfuRere v i CIRT 5T [T

PicageeR T g g 341 :

Marks in Economics Marks in Statistics
eREmT 57 ARTRET T

48 45

35 20

17 40

23 25

47 45 .
% % %
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